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i. A project has an expected cash flow of 52 million one year from now. The standard
deviation of this cash flow is $300,000. If the expected return of market portfolio is 12%, the
risk-free rate is 6%, the standard deviation of the market return is 5%, and the correlation
between this future cash flow and the return on the market is 0.5, what is the present value
of the cash flow? Assume the CAPM holds.

(A)$1,878,302  (B}$1,820,000 ({C) 51,785,714 (D) $1,716,981  (E)} $1,685,000

2. A portfolio consists of 500 shares of stock and 250 calls on that stock. If the hedge ratio for
the call is 0.5, what would be the dollar change in the value of the portfolio in response to a
one doflar decline in the stock price?

{A})-$1,000 (B)-$750 (C}$-625 (D}-$375 (E)-$250

3. Ha stock is subject to short-sale constraints, what do the following situations tend to make
that stock overvalued?
{A) current stock price is low and volatility is low
{B) current stock price is low and volatility is high
(C) current stock price is low and beta is high y
(D) dispersion of beliefs about stock value is low and investor sentiment is high
{E) dispersion of beliefs about stock value is high and investor sentiment is high

4. Arbitrageurs may be unable to exploit behavioral biases because of
1) capital constraint II) implementation costs 11} fundamental risk
IV) low analyst coverage V) high market fiquidity
(Aylandlit (B}, il,andlll {C}l,fi,and IV (D)U,IV,andV (€}, IV, and V

5. NTU company has a mine that will produce a total of 80,000 pounds of silver: 30,000
pounds of silver at the end of the first year and 50,000 pounds of silver at the end of the
second year. Extraction costs are always $0.20 per pound. The current forward prices are
$0.70 per pound for a one-year contract and $0.60 per pound for a two-year contract. The
annually compounded risk-free rates are 4 percent for one-year zero-coupon bonds and 5
percent for two-year zero-coupon bonds, What is the present value of the cash flows from
the mine, assuming that payments for the mined silver are received at the end of each year?
(A)$32,563 (B)$32,738 (C)$32,914 (D) $33,471 (E) 837,099
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6. You are given the following information about a portfolio you are to manage. For the
long-term you are bullish, but you think the market proxied by the S&P 500 index may fall

over the next month.

Partfolio Value $1 million
Portiolio’s Beta 0.72
Current S&P 500 Value 980
Anticipated S&P 500 Value 910

What is the dollar value of your expected loss?
(A)$72,000 (B)$71,400 (C)$55,400 (D) $51,400  (E) $51,000

7. A pension fund that begins with $500,000 earns 15% the first year and 10% the second year.
At the beginning of the second year, the sponsor contributes another $300,000. The
dollar-weighted and time-weighted rates of return, respectively, were
{A) 11.7% and 12.5% (B} 11.3% and 11.7% (C}11.3% and 12.1%

{D}11.7% and 12.1% (E) 12.1% and 12.5%

= SR B R - WU AABA  BRAINESHE -

1. Given the following information about the mean returns and covariances for three stocks
T’

compute the tangency portfolio weights and minimum variance portfolio weights. Assume
that a risk-free rate is 4%. (8 points)

Covariance with
Stock A Stock B Stock C Mean Ren
Stock A 0.002 0.001 ] 15%
Stock B 0.001 0.002 0.601 10%
Stock C 0 0.001 06.002 12%

2. Compute the firm-specific variance and firm-specific standard deviation of a portfolio that
minimizes the firm-specific variance of a portfolio of 20 stocks. Each of the first 10 stocks
has firm-specific variances of 0.05 and each of the second 10 stocks has firm-specific
variances of 0.10. (8 points) ‘
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3. Assume that you purchase a 10-year $1,000 par vaiue bond, with a 12% coupon, and a yield
of 10%. Immediately after you purchase the bond, yields fall to 8% and remain at that level
to maturity. Calculate the realized horizon yield, if you hold the bond for 5 years and then

sefl. Interest is paid annually. (7 points)

4, Consider the following value model:
£ "_"E;Z/BfDH;,
=i

where P; Is the stock price at time ¢t, D; is the dividend paid at the end of period t, fis a
discount factor, and £; denotes an expeciation formed at the end of period t. The change in
dividend at time tis defined as AD, = D; ~D;.;. Show that P; can be expressed as the following
equation. (6 points)

B 1 &,
B=—2_D+—_EY BAD,.
t l—ﬂ 0 I—ﬂ er] +j




